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QUESTION 1

What are three common problems for administrators when managing application with network security models that are
not virtualized? (Choose three.) 

A. Lack of Interoperability and automation creates error-prone manual work. 

B. Integration of third-party security products with home products is not possible. 

C. Deploying and managing third-party security products become difficult. 

D. Load balancing by vMotion is not possible. 

E. There is limited visibility into a workload\\'s security posture and policies. 

Correct Answer: ACE 

 

QUESTION 2

What are two functions of a DLR control VM (Choose two.) 

A. Communicates with the NSX manager and sends routing updates to the NSX controller. 

B. Performs Address Resolution Protocol (ARP) entry lookup. 

C. Establishes routing protocol sessions with other routers. 

D. Forms adjacencies with edge routing peers. 

Correct Answer: AD 

 

QUESTION 3

Which is the VMware product through which VMware NSX, other than VMware vRealize Automation, provides
automation of the entire data center? 

A. VRealize Operations manager 

B. VMware Integrated OpenStack 

C. VMware Site Recovery Manager 

D. VMware vRealize Log Insight. 

Correct Answer: B 

 

QUESTION 4

Which characteristic of VMware NSX enables secure intra-data center network traffic1? 
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A. Micro-segmentation 

B. Cloud pod architecture 

C. Elasticity 

D. Multi-tenant manageability 

Correct Answer: A 

 

QUESTION 5

Which domain does vSphere/ESXi virtualize for the Software-Defined Data Center (SDDC)? 

A. Applications 

B. Storage 

C. Compute 

D. Network 

Correct Answer: B 

 

QUESTION 6

How can the legacy physical network be simple, stable and reliable when network abstraction is implemented? 

A. By leveraging the existing physical devices without configuration changes 

B. By automating services for provisioning new services. 

C. By configuring new VLANs. 

D. By integrating third-party devices with the existing infrastructure. 

Correct Answer: A 

 

QUESTION 7

What are the two operational modes available with VMware NSX balancer (Choose two.) 

A. Proxy 

B. Setup 

C. Baseline 

D. inline 

Correct Answer: AD 
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QUESTION 8

An administrator wants to provide seamless connectivity between on-premises and hybrid cloud resources. In this
scenario which technologies can be incorporated to provide seamless connectivity? (Choose two.) 

A. VMwareNSXL2VPN 

B. VMwareNSXL4-L7VPN 

C. Site to Site VPN with TLS 

D. Site to site VPN with IPSec 

Correct Answer: A 

 

QUESTION 9

Which of these allows static or dynamic grouping based on inclusion and exclusion of objects such as virtual machines,
vNICs, cSphere clusters, and logical switches? 

A. uplink 

B. Active Directory (AD) 

C. Port 

D. Security group 

Correct Answer: D 

 

QUESTION 10

Which internet security protocol does NSX Edge use to interoperate with all major VPN vendors\\' equipment? 

A. TLS 

B. TCP/IP 

C. HTTPS 

D. IPSec 

Correct Answer: D 
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